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Math 542 Exercise 16

Joe Timmerman

February 26 , 2014

All of this was done using pretty ugly code I wrote in Java, which I'll attach. I've pasted
the output of my program for each part.

a) Find a generator of Z;

n=7
Generators are: 3, 5,
Total number of generators: 2

b) How many generators does Z;7 have?

n = 17
Generators are: 3, 5, 6, 7, 10, 11, 12, 14,
Total number of generators: 8

c¢) How many generators does Zj; have?

n =31
Generators are: 3, 11, 12, 13, 17, 21, 22, 24,
Total number of generators: 8
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static word moin(Stringl] orgs) {

Fit - A1,
Y5 tﬁm out.printinr oy
ooieon] ] asheneratur = new booie

wanln];
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orfint 1 = 1; 1 < n; i+ |
boolean[] elemenks » new boolean[n];
forfint k - 8; k < ke {

n;
giements[k] = false;

ardint § - 1; 3 < n; Jeey o
Biglnteger currentlnt - new Biglnteger(St
forfint 1 = 1; 1 =« 1889; T++2 {

iflcurrentInt . modPow(Biglnteger . valued;
Biglnteger . valuedfin Y equals it
elements[i] = true;

[

int count = 3]
5

ystemteut.prént{”ﬂeﬂurainvs arer '
or{int a - 1; a = n; a++ |
1f{isGeneraotor{all {
System, out.printla + " "3

count+s ]

System, out.printin{"wnlotal nusbor of generators:
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